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I Timesta Paruete cand | Wi | Dispontble=DLImn
pag | g (ms) A (AR, cnd)-
pendientes HCE |
1 25 iplpl = pBpB 50000 win SMEE <mss 1460 1 slowstart
2 T ipB el = ipl pl- 5 0:0(0) ack 1 win 8355 <mss 1000= 1 o 1
£ 125 iphpd = 1pB oB:  aclk 1 win BMSS
4 125 iphpt = 1pBeB: 1:14610146070 ack 1 win 8ME5 0]
3 175 ipB el =iph pl- ack 1461 win 7MES 2 ¥ 2
& 2o ipdpd >ipB pB: 1461:29210(1460% ack 1 win shis5 1
i 225 iphpl =ipBpB: 2921:4381(1460) ack 1 win 8MISS i
) 213 ipBpB > iplph:  ack 2921 win 6155 3 £ 3
Q 295 ipBoB=1ph pd:  ack 4581 win SMMSS 4 3] 4
10 #25 iplhpd = 1pB pB: 4381584 1(1460) ack 1 win 8MISS £
11 D2 iphpd =i1pB pB: 5841:.75301(1460) ack 1 win 8MISS 2
12 #A0 ipbpd =ipB pB 73018761 (14600 ack 1 win 835 1
13 5729 iphpd =1pBpB: 5761 10221014600 ack 1 win sh55 i
14 E ] ipBpB = iphpd:  ack 5841 win 4MSS ] 4 4
15 L ¥ ] ipBeB = 1pd pl  ack 73071 win ShsS & ! 3
16 373 ipBpB = plpd:  ack 8761 win 2MSS # 2 2
1 ET ipBpB = ipl ph:  ack 10221 win 1M5S & 1 1
18 425 ipd pd >ipE pB: 10221:116810(1460)% ack 1 win 8MES 0]
19 475 ipB el = iphpl:  ack 11661 win 1MES 9 1 1
20 D iphpt = 1pBpB: 11681 13141(1460) ack 1 win SIS 0
21 IFD iBpB >iphpd:  ack 15141 win 2h55 10 2 2 CongAveid
22 625 iphpt = 1pB pB: 13141:14601 (1460) ack 1 win M55 ]
23 625 iphpt = 1pBpB: 14601:16061 (1460% ack 1 win 8M55 i
24 675 ipB B > 1ph pd:  ack 146071 win SMSS 10 ) 3
25 ] ipB el > i1plpl:  ack 146071 win 4ME5 11 4 4
125 ipdpd =B eE: 16061:17521 (14607 ack 1 win sIZE 2




